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Question Number : 1 Question Id : 87827044320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

As per the constitution of India, which of the following articles directs the State to improve public health, nutrition and the
standard of living?

1.4
2.46
347
4.50

Options :

878270174141. 1
878270174142. 2
878270174143.3

878270174144. 4

Question Number : 1 Question Id : 87827044320 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YRG5 AU b SR, FEIREd H 3 B 1 o I 1 Waae S, T 3R o SR 4 QR e a1 el
e

141
2.46
347
4.50

Options :

878270174141.1
878270174142. 2
878270174143. 3

878270174144. 4

Question Number : 2 Question Id : 87827044321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who acts as the chairperson of the National Disaster Management Authority (NDMA)?

1. Prime Minister of India
2. Home Minister of India
3. Defence Minister of India
4 Health Minister of India

Options :

878270174145. 1
878270174146. 2
878270174147. 3

878270174148. 4



Question Number : 2 Question Id : 87827044321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PTG HUET Yat UITHHIU (NDMA) & 37286 & U H B BId Hdl 52

1. YR & GYHEA
2. HRd & g HAl
3. YT & &1 Tl
4 YRd & W@red /4

Options:

878270174145. 1
878270174146. 2
878270174147.3
878270174148. 4

Question Number : 3 Question Id : 87827044322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

As per the constitution of India, which of the following entries in the Union List deals with inter-state quaranting?

1. entry 51
2. entry 61
3. entry 71
4 entry 61

Options :
878270174149. 1
878270174150. 2

878270174151. 3



878270174152. 4

Question Number : 3 Question Id : 87827044322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRT % Sa4H & $FER, 99 G A FafiRe 3§ o 9 vl siar-asiio §7R1 (quarantine) § H4ld 82

1. fdib 5
2 Ufdiv 6
3. Jfdip 7
4. fdip 8

1
1
1
1
Options :

878270174149. 1
878270174150. 2
878270174151. 3

878270174152. 4

Question Number : 4 Question Id : 87827044323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the nodal ministry for the management of Avalanche?

1. Ministry of Mines

2. Ministry of Road Transport and Highways
3. Ministry of Earth Sciences

4. Ministry of Defence

Options :
878270174153. 1

878270174154. 2



878270174155. 3

878270174156. 4

Question Number : 4 Question Id : 87827044323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafafad & 9 o 91 g7 (Avalanche) & e & foTg Tisd Hared &2

IECIER P
2 g3& URded 3R ISEH gAY
4. &1 HATHY

Options:

878270174153. 1
878270174154. 2
878270174155. 3
878270174156. 4

Question Number : 5 Question Id : 87827044324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following sections of Disaster management Act, 2005 Is related to the constifution of National Disaster
Response Force?

[ o T o o R o o B & o

Options :



878270174157. 1
878270174158. 2
878270174159. 3

878270174160. 4

Question Number : 5 Question Id : 87827044324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

H1UE] Ve T, 2005 & FEfifed st H 8 o 9 g TPy e A 79 o 76 9 Gafid 82

1 W8 44
2 WS 46
3. WS 48
4 G350

Options :

878270174157. 1
878270174158. 2
878270174159. 3

878270174160. 4

Question Number : 6 Question Id : 87827044325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Sustainable Development Goal (SDG) is related to ensuring healthy lives and promoting well-being?

1. 3DG Goal 2
2. 5DG Goal 3
3. SDG Goal 4
4.5DG Goal 9



Options :

878270174161. 1
878270174162. 2
878270174163. 3

878270174164. 4

Question Number : 6 Question Id : 87827044325 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafared o 9 9ad T8 968 (SDG) WY g T &% R $H0-41 &1 9o/l o § Hafid 27

1. THEIW! T 2
2. THEIal T4 3
3. TOeIal T4T 4
4 TOE T 9

Options :

878270174161. 1
878270174162. 2
878270174163. 3

878270174164. 4

Question Number : 7 Question Id : 87827044326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



What is the tenure of the judge of the International Criminal Court?

1. 3 years
2 5 years
3. 6 years
4 9 years

Options :

878270174165. 1
878270174166. 2
878270174167.3
878270174168. 4

Question Number : 7 Question Id : 87827044326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SHRIFHE AR ey & AEm & PR 71 52

3ay
5dY
6dy
9ay

B T o

Options:

878270174165. 1
878270174166. 2
878270174167. 3

878270174168. 4

Question Number : 8 Question Id : 87827044327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-lI
(Reservoir) (River)

(A). Gandhi Sagar {I). Betwa

(B). Panchet (11). Chambal
(C). Matatila (I11). Damodar
(D). Nizam Sagar {IV). Manjira

Choose the correct answer from the options given below:

1. (A) -
2. (A)-
3. (A) -
4 (A)-

111}, (B) - (1), (C) - (IV), (D) - (I
1), (B) - (1), (C) - (IV), (D) - (I
),

1), (B) - (1), (C) - (1), (D) - (IV

(
(
(
(1), (B) - (IV), (C} - (I1), (D) - (Il

)
)
)
)
Options :

878270174169. 1

878270174170. 2

878270174171.3

878270174172. 4

Question Number : 8 Question Id : 87827044327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



- B G-I D Y e S

- -1l
(SaRE) ()

(A). TRt FER (1), Sda
(B). 4=d (). =&
(C). e |(1). gHiET
(D). F | FER|(IV). H9i
T T el & @ 98 R o

1. (A) - (1), (B) - (II), (C) - (IV), (D) - (1)
2 (A) - (1), (B) - (Il), (C) - (IV), (D) - (1)
3. (A) - (II), {B‘-l’ll!} (C) - (1), (D) - (IV)
4. (A) - (1), (B) - (IV), (C) - (II), (D) - (Il1)

Options:

878270174169. 1
878270174170. 2
878270174171.3

878270174172. 4

Question Number : 9 Question Id : 87827044328 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Those who leave the sovereign territory of one country in order o achieve refugee status in another country based upon
claims of danger are called -

1. Asylum Seeker
2. Diaspora
3. Emigrant
4. Immigrant

Options :
878270174173. 1

878270174174. 2



878270174175. 3

878270174176. 4

Question Number : 9 Question Id : 87827044328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S T T R R R R 1 SR T g T 53 T O R 6 U B 191G 0 8, 9% e
:
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) SN
4 STy

Options:

878270174173. 1
878270174174. 2
878270174175. 3
878270174176. 4

Question Number : 10 Question Id : 87827044329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is artificial intelligence language?

. BASIC
. COBOL

. FORTRAN
. LISP

L

Options :



878270174177. 1
878270174178. 2
878270174179. 3
878270174180. 4

Question Number : 10 Question Id : 87827044329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafeiad 3 9 &1 9 $HH U 4w 82

o
5
A

y
]
I
-{_ ]
[

Options :

878270174177. 1
878270174178. 2
878270174179. 3

878270174180. 4

Question Number : 11 Question Id : 87827044330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in decreasing order

{A). Exabyte (EB)

(B). Gigabyte (GB)

(C). Petabyte (PB)

(D). Terabyte (TB)

(E). Yottabyte (YB)

Choose the correct answer from the options given below:

1. (C), (D), (B
2. (E), (C), (A
3. (E), (A), (C
4. (C), (D), (E

), (E), (A)
), (D), (B)
), (D), (B)
). (B), (A)
Options :
878270174181. 1
878270174182. 2
878270174183. 3

878270174184. 4

Question Number : 11 Question Id : 87827044330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafafad ®f ged 10 0 wafud &1-
(A). THRIHISC (EB)

(B). TIRTIEES (GB)

(C). USTETSE (PB)

(D). <XTETE (TB)

(E). GITTET=T (YB)

1< feu 7Y fadedl § ¥ T8t SR g

C), (D), (B), (E), (A)
E), (C), (A), (D), (B)
E), (A). (C), (D), (B)
C), (D), (E), (B), (A)

—

B T

Options :

878270174181. 1
878270174182. 2
878270174183. 3
878270174184. 4

Question Number : 12 Question Id : 87827044331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Logic Gates are incorrectly listed?
(A). AND

(B). FOR

(C). NAND

(D). SUB

(E). XOR

Choose the correct answer from the options given below

1. (A) and (C) only
2. (B) and (D) only
3. (C) and (E) only
4 (A), (C)and (E) only

Options :

878270174185. 1
878270174186. 2
878270174187.3

878270174188. 4

Question Number : 12 Question Id : 87827044331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FofeRad & 9 ®1F 9 9@ 71ed (Logic Gates) TTd &1 § Jdl6S o7
(A). AND

(B). FOR

(C). NAND

(D). SUB

(E). XOR

-t feu U fadedi & ¥ 98 IR -

1.®ad (A) 3R (C)
2 ®4dd (B) AR (D)
3. ©4d (C) 31X (E)
4. @ad (A), (C) 3R (E)

Options :

878270174185. 1
878270174186. 2
878270174187.3

878270174188. 4

Question Number : 13 Question Id : 87827044332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct example of Platform as a Service (PaaS) in Cloud Computing?

1. Apache
2. Amazon
3. Microsoft
4 Google

Options:

878270174189. 1



878270174190. 2
878270174191. 3

878270174192. 4

Question Number : 13 Question Id : 87827044332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafifad & § &1 91 3e13S HPEfeT § Tehid Unl U 9y (PaaS) &1 Tel Sales 62

1. U=
2 3G

Options:

878270174189. 1
878270174190. 2
878270174191.3

878270174192. 4

Question Number : 14 Question Id : 87827044333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct expansion for HPCC?

1. Highest Performance Computer for Computing

2. High Performance Computing and Communications
3. High Performance Computer and Communications
4 Higher Performing Computer and Communications

Options :



878270174193. 1
878270174194. 2
878270174195. 3

878270174196. 4

Question Number : 14 Question Id : 87827044333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafefea 3 9 &9 9 i (HPce) & fow o8t famr &2

1. FEUE WHIHY HEeR BR G
2 TS WBIHG S U8 SRS
3. Bk WPIHY HER TS HHYHH I
4. TR RBIHT R 1S G

Options :

878270174193. 1
878270174194. 2
878270174195. 3

878270174196. 4

Question Number : 15 Question Id : 87827044334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is primarily an interpreted logic programming language, designed for use in Arificial Intelligence (Al)
application?

1. PASCAL
2. PERL
3.PROLOG
4. PostScript

Options :

878270174197.1
878270174198. 2
878270174199. 3

878270174200. 4

Question Number : 15 Question Id : 87827044334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy )

e & 8 @ 9 9 &0 8 W SeRics it W 4 8, ford onféftnfima Seferorg (Al orwa & Suam & fou
ST g T 82

1 TReq
A

Options:

878270174197. 1
878270174198. 2
878270174199. 3

878270174200. 4

Question Number : 16 Question Id : 87827044335 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is responsible for executing the query in a database?

1. Code Generator
2. Query Optimizer
3. Query Parser

4 Query Processor

Options :

878270174201. 1
878270174202. 2
878270174203. 3

878270174204. 4

Question Number : 16 Question Id : 87827044335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tgfcfad o U & T sead H tidl (query) I Huifad #x- o [ 3ar 82

1. I8 T
2. Wl PR
3. B Ui

Options :

878270174201. 1
878270174202. 2
878270174203. 3

878270174204. 4

Question Number : 17 Question Id : 87827044336 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In relation to outbreaks, ‘the gap in time between the onset of primary case and secondary case' is known as

1. Incubation period
2. Lead time

3. Generation time
4 Serial interval

Options :

878270174205. 1
878270174206. 2
878270174207.3

878270174208. 4

Question Number : 17 Question Id : 87827044336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wI & Tay & Ty e 3R e A1 @) Yo & aid 99 O ST Y & €0 8 9 9l

PRI R
3 T 5
4 P A

Options :

878270174205. 1
878270174206. 2
878270174207. 3

878270174208. 4



Question Number : 18 Question Id : 87827044337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nutritional supplementation programmes are a form of which type of prevention?

. Primordial
. Primary

. Secondary
_ Tertiary

L

Options:

878270174209. 1
878270174210. 2
878270174211.3

878270174212. 4

Question Number : 18 Question Id : 87827044337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UUl T® ®1ed {658 ToR @ AHYUH &1 U6 ¥4 8?2

1. 31
2. UTYfi®
3. fedig®
4. Jdia®

Options :

878270174209. 1
878270174210. 2
878270174211.3

878270174212. 4



Question Number : 19 Question Id : 87827044338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following dimensions is mentioned in the definition of Health, according to the World Health Organization
(1948)?

1. Financial

2. Environmental
3. Social

4. Qccupational

Options:

878270174213.1
878270174214. 2
878270174215.3

878270174216. 4

Question Number : 19 Question Id : 87827044338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s TRy TG (1948) & YR, WA B ORI ¥ e A T o /g &1 I fos i 22

1 fodig

2. JUiqXUiig
3. gl
4 YIS

Options :
878270174213. 1
878270174214. 2

878270174215. 3



878270174216. 4

Question Number : 20 Question Id : 87827044339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following water borne diseases are caused by protozoan?
(A). Well's disease

(B). Giardiasis

(C). Amoebiasis

(D). Cholera

(E). Hepatitis E

Choose the correct answer from the options given below

1. (A) and (B) only
2. (B) and (C) only
3. (C)and (D) only
4 (B) and (D) only

Options :

878270174217. 1
878270174218. 2
878270174219. 3

878270174220. 4

Question Number : 20 Question Id : 87827044339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad o O S1H-8 Sieeiad I g (WEsi3H) & SR Bl 82
(A). 93T IAT

(B). Toranrsanag

(C). SHIEHIgY

(D). T

(E). gUCRfEd

-t feu U fadedi & ¥ 98 IR -

1.%ad (A) 3R (B)
2 @dd (B) 3R (C)
3. ®4dd (C) 3R (D)
4. @dd (B) 3R (D)

Options :

878270174217.1
878270174218. 2
878270174219.3

878270174220. 4

Question Number : 21 Question Id : 87827044340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An outbreak of disease in an animal population is Known as

1. Epornithic
2. Exotic

3. Epizootic
4 Enzootic

Options:

878270174221. 1



878270174222. 2
878270174223. 3

878270174224. 4

Question Number : 21 Question Id : 87827044340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U] TGS H IFT & UHIY Bl [ &G H ST o1dl 82

B

1%;&.
%

BN =
Jrl_

.

o

i

Options:

878270174221.1
878270174222.2
878270174223.3

878270174224. 4

Question Number : 22 Question Id : 87827044341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

World Health Organization declared the end of Public Health Emergency of International Concern for COVID-19 on

1. 05 June, 2022
2. 05 May, 2022
3. 05 April. 2023
4 05 May, 2023

Options :



878270174225. 1
878270174226. 2
878270174227.3

878270174228. 4

Question Number : 22 Question Id : 87827044341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fo% T W3 9 B11dE-19 0 SfRPIY TPR & Wdoii-op WA SUADIE B 3 Pl GG 12

059, 2022
0573, 2022
05 30T, 2023
0578, 2023

A

Options :

878270174225. 1
878270174226. 2
878270174227. 3

878270174228. 4

Question Number : 23 Question Id : 87827044342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following occupational diseases is often associated with Hay or Grain Dust?

1. Anthracosis
2. Hayosis

3. Grainestosis
4 Farmer's lung



Options :

878270174229. 1
878270174230. 2
878270174231.3

878270174232. 4

Question Number : 23 Question Id : 87827044342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i N S a8
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Options :

878270174229. 1
878270174230. 2
878270174231.3
878270174232. 4

Question Number : 24 Question Id : 87827044343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In disaster triage system, which if the following colour is used for tagging the patients with ‘urgent conditions, but who can
be transported after sometime™?

1. Green
2. White
3. Yellow
4 Red

Options :

878270174233. 1
878270174234. 2
878270174235.3
878270174236. 4

Question Number : 24 Question Id : 87827044343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

] T YTl . et & 9 i 307 1 SUarT il ORIl aret A e o g W0 TG RIHTvG
Tl ol el & 1 gl @ b fed e frel 62

1.5

2. g
3. dfem
4. T

Options:

878270174233. 1
878270174234. 2
878270174235. 3

878270174236. 4

Question Number : 25 Question Id : 87827044344 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a triage system used in Mass Casualty Incidents and Disasters?

1. MOVE triage system

2. MASS triage system

3. RESCUE ftriage system
4 APAtriage system

Options :

878270174237. 1
878270174238. 2
878270174239.3

878270174240. 4

Question Number : 25 Question Id : 87827044344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Frgfefed 3 3 o O 93 T9R W gdied geTai 3R auerel 3 3ud &1 9 gl crRus! Y 22

1. 7d 71304 firen
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Options :

878270174237. 1
878270174238. 2
878270174239. 3

878270174240. 4

Question Number : 26 Question Id : 87827044345 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year Three Mile Island accident took place?

1. 1978
2.1979
3. 1980
4. 1981

Options :

878270174241.1
878270174242. 2
878270174243. 3

878270174244. 4

Question Number : 26 Question Id : 87827044345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

off arge a1y geen Hufafad fog ad 4 g3 o

1.1978
2 1979
3. 1980
41981

Options :

878270174241. 1
878270174242. 2
878270174243. 3

878270174244. 4



Question Number : 27 Question Id : 87827044346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For high quality Cardiopulmonary Resuscitation, chest compression should be at the rate of -

1. 70 to 90 chest compressions / minute
2. 80 to 100 chest compressions / minute
3. 90 to 110 chest compressions / minute
4 100 to 120 chest compressions / minute

Options:

878270174245. 1
878270174246. 2
878270174247.3
878270174248. 4

Question Number : 27 Question Id : 87827044346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 10Tl afcl difeuyeiag RERieeH (Cardiopuimonary Resuscitation)  fit, a die .. ®REHI TiRT?
1.70 ¥ 90 3y Gl e

280 100 38 Yiie e

3,909 110 9 TiisA/fte

4 100 T 120 38 Tfigfire

Options :

878270174245. 1
878270174246. 2
878270174247. 3

878270174248. 4



Question Number : 28 Question Id : 87827044347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Epidemiological triad refers to

1. Agent, Disease, Environment
2. Host, Agent, Disease

3. Host, Disease, Environment
4 Host, Agent, Environment

Options:

878270174249. 1
878270174250. 2
878270174251.3

878270174252. 4

Question Number : 28 Question Id : 87827044347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. HHd I ggian]
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3. qeail 391, ggiaRn
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Options :
878270174249. 1
878270174250. 2

878270174251. 3



878270174252. 4

Question Number : 29 Question Id : 87827044348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Constant presence and/or usual prevalence of a disease of infectious agent in a population within & geographic area is
known as

1. Sporadic
2. Endemic
3. Epidemic
4 Pandemic

Options :

878270174253. 1
878270174254. 2
878270174255. 3

878270174256. 4

Question Number : 29 Question Id : 87827044348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP e &7 & Wik U AT 5 ST SAd & U 31 0o STy AR/ TR 0] & o ol &

1. e
2 I
3 TRl

Options :

878270174253. 1



878270174254. 2
878270174255. 3

878270174256. 4

Question Number : 30 Question Id : 87827044349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following was India’s initiative for assistance to earthquake-hit Turkiye and Syria?

1. Operation Dost

2. Operation Kesari
3. Operation Rainbow
4. Operation Castor

Options:

878270174257. 1
878270174258. 2
878270174259. 3

878270174260. 4

Question Number : 30 Question Id : 87827044349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yoy - THITad i AR Tk & Terdl & foY YRd &1 FgfiRad 8 9 & 3 gga 4i?
2 ATRIH I
3. HIORRH JEY

Options :



878270174257. 1
878270174258. 2
878270174259. 3

878270174260. 4

Question Number : 31 Question Id : 87827044350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The legal doctrine of ‘Parens Patriae’ refers to

1. Right to fair trial

2. Duty of citizens to serve the nation

3. Presumption of innocence until proven guilty

4 QObligation on the state to protect persons under disability

Options :

878270174261. 1
878270174262. 2
878270174263. 3

878270174264. 4

Question Number : 31 Question Id : 87827044350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270174261. 1
878270174262. 2
878270174263. 3

878270174264. 4

Question Number : 32 Question Id : 87827044351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following prepares National Plan for Disaster Management in India?

. National Institute of Disaster Management
- National Disaster Response Force

- National Executive Committee

- Special Centre for Disaster Research, JNU

B A B e

Options :

878270174265. 1
878270174266. 2
878270174267.3
878270174268. 4

Question Number : 32 Question Id : 87827044351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad § 4 &H HRd 9 30el Uy & 8 g9 TS TaR S 82

2. P 3MUST AEH §d
3. AP BRIGR] HHA

Options :

878270174265. 1
878270174266. 2
878270174267.3

878270174268. 4

Question Number : 33 Question Id : 87827044352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following mentioned Acts is enumerated in the 'Schedule |' of the National Green Tribunal Act, 2010?

1. Wild Life (Protection)Act, 1972

2. Public Liability Insurance Act, 1991
3. Energy Conservation Act, 2001

4 Solid Waste Management Act, 2006

Options:

878270174269. 1
878270174270. 2
878270174271.3
878270174272.4

Question Number : 33 Question Id : 87827044352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Fgfcied A 9 31 91 aftfras i aivd e afdfam, 2010 P argd 1 g2l A Sicfd 82

1. 9oild (UReT) HRFHTE, 1972
2 T Gaa s A, 1991

3. Sl T HfHTH, 2001

4. 319 HURP UeeE HfATE. 2006

Options :

878270174269. 1
878270174270. 2
878270174271. 3

878270174272. 4

Question Number : 34 Question Id : 87827044353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many priorities for action are outlined under Sendai Framework for Disaster Risk Reduction?

1. Three
2. Four
3 Five
4 Seven

Options:

878270174273. 1
878270174274. 2
878270174275.3

878270174276. 4

Question Number : 34 Question Id : 87827044353 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIUE] SiIREH <JHIH0 & foT USTS ThHad & Svid BRals & (0T il T FHyivd @l 7 2

1.d4
2. °R
3. 79
4. 91d

Options :

878270174273. 1
878270174274. 2
878270174275.3

878270174276. 4

Question Number : 35 Question Id : 87827044354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Irrelevant spatial data entered during digitizing, scanning or data transfer in GIS is termed as

1. Garbage

2. Mis-allocated data
3 Noise

4 Null Data

Options :

878270174277. 1
878270174278. 2
878270174279. 3

878270174280. 4

Question Number : 35 Question Id : 87827044354 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WSS (GIS) H fEfoTeciionyl, 3T 71 S2 SRR t GRM Gul (0 T HHEIS R Sl Bl el 9l ¢

1 el

2. m—%w -353\:: :?'.'_Cr

4, 7% () S
Options :

878270174277. 1
878270174278. 2
878270174279. 3

878270174280. 4

Question Number : 36 Question Id : 87827044355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In 1964, Laboratory for Computer Graphics and Spatial Analysis (LCGSA) was developed in -

1. Harvard University
2. Moscow University
3. Chicago University
4 John Hopkins University

Options :

878270174281. 1
878270174282. 2
878270174283. 3

878270174284. 4



Question Number : 36 Question Id : 87827044355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1964 T, TaRed B deX Aifthad Us TR IR (LCGSA) el fabid &1 T 47

1. g1ds fayfdeay
2. %! faufaeey
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Options:

878270174281. 1
878270174282. 2
878270174283. 3

878270174284. 4

Question Number : 37 Question Id : 87827044356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5DSS stands for -

_ Special Decision Support System
- Spectral Data Support System

_ Spatial Decision Support System

- Special Database Support System

L

Options :

878270174285. 1
878270174286. 2
878270174287. 3

878270174288. 4



Question Number : 37 Question Id : 87827044356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUSITIUY (SDSS) BT A=A & -

1. |iE f&faw 9ol s
2. Eded SIel guie ey
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Options:

878270174285. 1
878270174286. 2
878270174287.3

878270174288. 4

Question Number : 38 Question Id : 87827044357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following types of malware do not replicate or clone themselves through infection?

1. Root Kits
2. Trojans
3. Viruses
4 Worms

Options :
878270174289. 1
878270174290. 2

878270174291. 3



878270174292. 4

Question Number : 38 Question Id : 87827044357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafaiad 3 ¥ (69 UoR & AdaiR YhHU & HIEH 4 W6Y &I Hidaid 1 & el §-1d 62

ki

1
2
3
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Options :

878270174289. 1
878270174290. 2
878270174291. 3

878270174292. 4

Question Number : 39 Question Id : 87827044358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There Is a collective term for malicious spying programs used for security monitoring of someone’s activities and actions
over a digital medium -

1. Keylogger

2 Malware

3. Remote Access Trojans
4 Spyware

Options :

878270174293. 1



878270174294. 2
878270174295. 3

878270174296. 4

Question Number : 39 Question Id : 87827044358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it el e o ot W W fech Wt & ot g feforec e w foref o it ok ol ol et
TR & fore foht S 5 -

1 FIAR
2 AR
3 e TRw &
4 WRIR

Options:

878270174293. 1
878270174294. 2
878270174295. 3

878270174296. 4

Question Number : 40 Question Id : 87827044359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the father of computer security?

1. August Kerckhoffs
2. Bob Thomas

3. Charles Babbage
4. John McCarthy



Options :

878270174297. 1
878270174298. 2
878270174299. 3
878270174300. 4

Question Number : 40 Question Id : 87827044359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DR & B ST DH 82

HITET ﬁ.':fﬁ% ]
F L

=

4l
2
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Options :

878270174297. 1
878270174298. 2
878270174299. 3

878270174300. 4

Question Number : 41 Question Id : 87827044360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The reduction in calcification rates in reef building corals and algae is due to

. Sea Water Chemistry

- Sea Water Temperature

. Sea Level Rise

. Storm Frequency and Intensity

B T

Options :

878270174301. 1
878270174302. 2
878270174303. 3

878270174304. 4

Question Number : 41 Question Id : 87827044360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RiaTel SR yard fAfid iR § sredigd & o < & $RU 8

1. TG o T
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Options:

878270174301. 1
878270174302. 2
878270174303. 3

878270174304. 4

Question Number : 42 Question Id : 87827044361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Which of the following is closely related to Sustainable Development?

1. Prime Minister of Estonia
2. Prime Minister of Finland
3. Prime Minister of Norway
4 Prime Minister of Sweden

Options :

878270174305. 1
878270174306. 2
878270174307. 3

878270174308. 4

Question Number : 42 Question Id : 87827044361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafea & € o9 9ad f9eg § Recar § 9e8fig 82

1. TEIHaT & HeTEEE!
2 fipids & gy
3. A9 & TuTEA

4 TEreA & y=EA

Options:

878270174305. 1
878270174306. 2
878270174307. 3

878270174308. 4

Question Number : 43 Question Id : 87827044362 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not identified as the drivers of changes in ecosystem goods and services as per Millennium
Ecosystem Assessment Report (2005)?

1. Cultural

2. Economic

3. Religious

4. Socio-political

Options :

878270174309. 1
878270174310. 2
878270174311.3

878270174312. 4

Question Number : 43 Question Id : 87827044362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270174309. 1
878270174310. 2
878270174311. 3
878270174312. 4



Question Number : 44 Question Id : 87827044363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following diversity indices represents diversity between habitats or between communities?

1. Alpha (a)
2. Beta ()

3. Epsilon ()
4 Gamma (y)

Options:

878270174313. 1
878270174314. 2
878270174315. 3

878270174316. 4

Question Number : 44 Question Id : 87827044363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 71 i 1 R Qe ofarel o e a1 Segerdt & e afaven an s et &7

1. AP ()
2. 911 (8)

3. T ()
4 7T ()

Options :

878270174313. 1
878270174314. 2
878270174315. 3

878270174316. 4



Question Number : 45 Question Id : 87827044364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is considered as high impact species?

- Flagship species
Keystone species

. Threatened species
- Umbrella species

A

Options:

878270174317. 1
878270174318. 2
878270174319. 3
878270174320. 4

Question Number : 45 Question Id : 87827044364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad 3 ¥ o1 W 9= yyTE- TR 9 S 82
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Options :
878270174317. 1
878270174318. 2

878270174319. 3



878270174320. 4

Question Number : 46 Question Id : 87827044365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-l with List-I

List-| List-lI

(Pollutants) |(Sources)
(A). Flounides|(l). Chemical industries, oil wells, refineries

(B). Hx5 (I1). Manufacture of fertilizers, ceramics,aluminium smelting

(C). Mercury |(IIl}). Power stations and industrial furnaces

(D). NO5 (IV). Manufacture of papers, chemicals and paints

Choose the correct answer from the options given below:

1. (A) - (Il), (B) - (1), (C) - (IV), (D) - (Il
2 (A) - (), (B) - (IV), (C) - (1), (D) - (Il
3. (A) - (II), (B) - (1), (C) - (IV), (D) - (lll
4. (A)- (1), (B) - (IV), (C) - (II), (D) - (Il

L e .

Options :

878270174321. 1
878270174322. 2
878270174323. 3

878270174324. 4

Question Number : 46 Question Id : 87827044365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(C). IRT (H¥a) (Il). TTax TEAT A1 =i uizat

(D). TTSEIa SEHTES (NOL)|(IV). BRI, TEE ST 1 &1 A1

1..(A) - (1), (B) - (1), (C) - (IV), (D) - (1)
2. (A) - (), (B) - (IV), (C) - (1), (D) - (1)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (), (B) - (IV), (C) - (1), (D) - (111}

Options :

878270174321. 1
878270174322.2
878270174323. 3

878270174324. 4

Question Number : 47 Question Id : 87827044366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A particular kind of toxin including physical, chemical or biological agents, that causes cancer is called

1. Carcinogen
2. Estrogen
3. Mutagen

4 Teratogen

Options :
878270174325. 1
878270174326. 2

878270174327. 3



878270174328. 4

Question Number : 47 Question Id : 87827044366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270174325. 1
878270174326. 2
878270174327.3

878270174328. 4

Question Number : 48 Question Id : 87827044367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following waste management approaches is not energy recovery method?

1. Compositing

2. Incineration

3. Pyrolysis

4 Fluidized Bed Combustion

Options :
878270174329. 1

878270174330. 2



878270174331.3

878270174332. 4

Question Number : 48 Question Id : 87827044367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fufaiad o 9 oF O uiRip ydyE 3urHE! J el Wi &1 afE 78t 82

2. HHIH
3. dIY 3{ggeq
4. TTPd TR Te-

Options:

878270174329. 1
878270174330. 2
878270174331.3

878270174332. 4

Question Number : 49 Question Id : 87827044368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the common scientific sponsor of the other listed International programmes?

1.1CSU
2. IGBP
3. IHDP
4 WCRP

Options :

878270174333. 1



878270174334. 2
878270174335. 3

878270174336. 4

Question Number : 49 Question Id : 87827044368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad # 9 1 91 3 Ydies SiRIP DrishHl & WHH a3 The o7

1. 3MgEigaEy
2 JEuitem
3. Eugat
4. SecgHlRy!

Options:

878270174333. 1
878270174334. 2
878270174335. 3

878270174336. 4

Question Number : 50 Question Id : 87827044369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Quantification of the adverse effects arising from exposure to a hazardous reagent or toxic, based on the degree of
exposure Is called

1. Dose Response Assessment
2. Exposure Assessment

3. Hazard |dentification

4 Risk Characterization



Options :

878270174337. 1
878270174338. 2
878270174339. 3
878270174340. 4

Question Number : 50 Question Id : 87827044369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T (exposure) @1 FE i YR R U Tehecrd! feas 31 faWied & S0 F & ¥ 3 g a1 Wi Wl 1 A

2 T FeRm
3 T iR

Options :

878270174337. 1
878270174338. 2
878270174339. 3

878270174340. 4

Question Number : 51 Question Id : 87827044370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How much cultivable area is vulnerable to drought in India?

1. Nearly 36 percent
2. Nearly 48 percent
3. Nearly 58 percent
4 Nearly 68 percent

Options :

878270174341.1
878270174342. 2
878270174343. 3

878270174344. 4

Question Number : 51 Question Id : 87827044370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & a1 o 417 &5 9@ 4 gig 22

1. THTHIT 36 Uiderd
2. TTHT 48 Hid=rd
3. T 58 A=
4. TTHT 68 Wid=Id

Options:

878270174341. 1
878270174342. 2
878270174343. 3

878270174344. 4

Question Number : 52 Question Id : 87827044371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Which of the following are influences of increased UV-B radiation on human health, plants and aquatic ecosystem?
(A). Skin cancer and eye cataracts
(B). Human immune system supression

(C

et

- Increased crop yields and tree growth

(D). Increased phytoplankton productivity

(E). Possible climate change

Choose the correct answer from the options given below:

(A), (B)and (E) only
(C)and (E) only
(C)and (D) only

(A), (C) and (E) only

1l
2.(B),
3.(B),
4

Options :

878270174345. 1
878270174346. 2
878270174347. 3

878270174348. 4

Question Number : 52 Question Id : 87827044371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ffeiad 5 9 S T 7d R, Qe 3R Sty TRIRT®! dF R 96 §U gdl-a fafesu & gHE 82
(A). T B AR 17 AfcEfae

(B). AT W& Ul G

(C). TUq @I UaaR IR 31 &1 3 & Fert

(D). UG S | df

(E). §uTfad wiefarg uRacH

Options :

878270174345. 1
878270174346. 2
878270174347.3

878270174348. 4

Question Number : 53 Question Id : 87827044372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following attributes are correct about the concept of ‘sex’'?

{A). Sex is a biological construction.

(B). Sex connotes different social roles of men and women in society.

(C). Sex is generally considered to be static and dictated by forces of nature.
(D). Sex is a synonym for Gender.

(E). Sex is a socio-cultural construction.

Choose the correct answer from the options given below:

1. (A) and (C) only
2. (A) and (E) only
3. (B) and (D) only
4 (C)and (E) only

Options :

878270174349. 1
878270174350. 2
878270174351. 3

878270174352. 4

Question Number : 53 Question Id : 87827044372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFpfaiad o ¥ @ 9 faRuan 7T o oeuRm & aR & 981 82
(A). i w3 Sfds G B
(B). Toi1 T | Ul SR Afgensl @i fafia Jmfes YA of i 5|

(). o @1 g AR W W A1 9 & SR eia @ Xfdaal gri i fa s gl
(D). AR P wiE Rl

(E). fai7 u& gmifors-aivpias Ta B
i fau T fadedt § € 98 IR I

1. ®ad
2 &ad
3 &ad
4 Had

A) 3R (C)
A) 3R (E)
B) 3R (D)
C) 3R (E)

— — — —

Options :

878270174349. 1
878270174350. 2
878270174351. 3

878270174352. 4

Question Number : 54 Question Id : 87827044373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are parts of main pillars of the National Disaster Management Plan, 20197
(A). Social inclusion as a ubiquitous and cross-cutting principle

(B). Main streaming Environmental Impact Assessment as a integral feature

(C). Conforming to Disaster Management Act, 2005

(D). Conforming to Environment, Climate and Disaster Management

(E). Mainstreaming Prime Minister’s Ten Point Agenda for DRR

Choose the correct answer from the options given below:

1. (A), (B) and (C) only
2. (A), (C) and (E) only
3. (B), (C) and (D) only
4. (C), (D) and (E) only
Options :

878270174353. 1
878270174354. 2
878270174355. 3

878270174356. 4

Question Number : 54 Question Id : 87827044373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeRad o 9 S U AP 31UeT Ued FieT, 2019 & 787 WHT & U1 82

(A). T Taoardl 3R H1g-Hie g & 9 & g 9a9deE

(B). T ¥ fa<iwdl & ¥4 § whiaRuilg UHTE Yedihd &1 T8IYRI § a1
(C). 3TUGT U SUFEH. 2005 & T BT

(D). TaIaR0T, Taar] AR 9G1 UeeH & 3 a1

(E). SISRAR (DRR) o oY W= & & P TolST & TIURT H TH
I feu e fasedf § € T8 IR A |

1.®ad (A), (B) 3R (C)
2 ®ad (A), (C) 3R (E)
3. @dd (B), (C) 3R (D)
4. @&dd (C), (D) 3R (E)

Options :

878270174353. 1
878270174354. 2
878270174355. 3

878270174356. 4

Question Number : 55 Question Id : 87827044374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Rights of Persons with Disabilities Act, 2016 includes the following under physical disability -
(A). Leprosy cured person

(B). Cerebral Palsy

(C). Multiple Sclerosis

(D). Autism spectrum disorder

(E). Acid attack victims

Choose the correct answer from the options given below:

1. (A),
2. (A),
3. (B),
4.(B),

(B) and (C) only
(B)and{E only
(C) and (D) only
(C) and (E) only

Options :

878270174357. 1
878270174358. 2
878270174359. 3

878270174360. 4

Question Number : 55 Question Id : 87827044374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ S

TEeaiTeH AfSeR AHEFTH 2016 H IRIRS feogiT & sidifd Mafaiad e & -

(A). BF T 1l Afad
(B). Tea gl

W

(C). AeId FeRITg

(D). 3HifesH Waen fEuaisR

(E). TFys g9d & difad
Fd feu T fadedi § 9 O SR -

1.®4dd (A), (B) IR (C)
2 ®ad (A), (B) 3R (E)
3. %ad (B). (C) 3R (D)
4 &ad (B), (C) IR (E)

L e

Options :

878270174357. 1
878270174358. 2
878270174359. 3

878270174360. 4

Question Number : 56 Question Id : 87827044375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following mobile applications implemented by National Disaster Management Authority (NDMA) publishes
official waming for all disasters from authorised sources?

1.D-Map

2. DAMINI

3. RAKSHAK
4 SACHET

Options:

878270174361. 1



878270174362. 2
878270174363. 3

878270174364. 4

Question Number : 56 Question Id : 87827044375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

TSTG 31Ty e RGO (NDWIA) &R et i 3 ol e oo it it @ 9 et g
67 GGG N 2GS

1318
2. e
3.
4. T

Options:

878270174361. 1
878270174362. 2
878270174363. 3

878270174364. 4

Question Number : 57 Question Id : 87827044376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The International Day for Disaster Risk Reduction was started in which year?



Options :

878270174365. 1
878270174366. 2
878270174367. 3

878270174368. 4

Question Number : 57 Question Id : 87827044376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= - P e Zhr

3RIH MUl SIfEH e feaq Faffed fow 7 af == foar mar a2

1. 1985
2.1989
3. 1990
4 1994

Options :

878270174365. 1
878270174366. 2
878270174367.3

878270174368. 4

Question Number : 58 Question Id : 87827044377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



National Disaster Management Guidelines on Disability Inclusive Disaster Risk Reduction was released by

1. Special Centre for Disaster Research, JNU

2. National Institute of Disaster Management

3. Department of Empowerment of Persons with Disabilities
4. National Disaster Management Authority

Options :

878270174369. 1
878270174370. 2
878270174371.3

878270174372. 4

Question Number : 58 Question Id : 87827044377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0o FHTEE UG SiReH TRl TR PG ue] FeieH GunHe fiwd gr1 iR e e

3. feoiTei Teidad T faym
4 TTB1T S1UST Halt TR0

Options:

878270174369. 1
878270174370. 2
878270174371.3

878270174372. 4

Question Number : 59 Question Id : 87827044378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Community Based Disaster Management (CBDM) is an example of —

- Reactive approach for disaster mitigation

_ Top-down approach for disaster mitigation

- Bottom-up approach for disaster mitigation

_ Science-driven approach for disaster mitigation

L

Options :

878270174373. 1
878270174374. 2
878270174375. 3

878270174376. 4

Question Number : 59 Question Id : 87827044378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W

Q-

HHE MURT SMUel Use (CBDM) 74 # ¥ fodd! T Sars

1. 391 IH & fore ufafhania UM
2. UG 215 & oY 2I9-S13 JUrTH

3. 3M9GI IH & AT SleH-30 SUH

4. 3{T9e] TH & fort fagH Sdnied JurH

Options:

878270174373. 1
878270174374. 2
878270174375. 3

878270174376. 4

Question Number : 60 Question Id : 87827044379 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following institutions had developed National Action Plan for Children, 20167

1. Ministry of Health & Family Welfare

2. Ministry of Women & Child Development
3. Ministry of Labour & Employment

4 Ministry of Home Affairs

Options :

878270174377. 1
878270174378. 2
878270174379. 3

878270174380. 4

Question Number : 60 Question Id : 87827044379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFafeiad 7 4 fog 9H 3 5= & forg ugig o gis1, 2016 faafyd $1?

1. WY 3R ufER S 53
2. gigdl ud d1el f[ddbrg dAre™

3. 4 3R YR HATT

4 T8 TAT

Options :

878270174377. 1
878270174378. 2
878270174379. 3

878270174380. 4

Question Number : 61 Question Id : 87827044380 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a key priority area as per the National Policy for Children, 2013?

1. Survival, Health and Nutrition
2. Protection

3. Participation

4 Preservation

Options :

878270174381. 1
878270174382. 2
878270174383. 3

878270174384. 4

Question Number : 61 Question Id : 87827044380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP &1 Hifd, 2013 & AR, HEiEd 3 Y $1F 9 06§91 Wfied o 87 ) 672

1. JALSITadT, WA 3R oy

2. REM
3. YriieR
4. TRET

Options :

878270174381. 1
878270174382. 2
878270174383. 3

878270174384. 4



Question Number : 62 Question Id : 87827044381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Human Development Index (HDI) value ranges between -

1.-1and +1
.Oand1
3.0and 5
4 1and >

[~

Options:

878270174385. 1
878270174386. 2
878270174387.3

878270174388. 4

Question Number : 62 Question Id : 87827044381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H-d [go™ Yadic (HDI) BT AF 5 & §d 8lal & -

1.-1 3R + 1
2 03R1
3035
41375

Options :

878270174385. 1
878270174386. 2
878270174387. 3

878270174388. 4



Question Number : 63 Question Id : 87827044382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who coined and popularized the term Heteronormativity?

1. Michael Warner
2. Michel Foucault
3. David Kooper
4. Will Moot

Options:

878270174389. 1
878270174390. 2
878270174391. 3

878270174392. 4

Question Number : 63 Question Id : 87827044382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fauac T dl e ®| fhg+ Uiguifed far iR die g s-a1?

1. IS dFX
2. TR ol
4 faa e

Options :
878270174389. 1
878270174390. 2

878270174391. 3



878270174392. 4

Question Number : 64 Question Id : 87827044383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One 'DALY" as used in context of human health represents the loss of

1. Equivalent to one year of full health

2. Equivalent to one year of disease free life
3. Equivalent to one human life

4 Equivalent to one decade of bed-ridden life

Options :

878270174393. 1
878270174394. 2
878270174395. 3

878270174396. 4

Question Number : 64 Question Id : 87827044383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e e

A4 Wl & oH § Jugi f6a1 TH a1ar Td sar (DALY) Fefafed e & gafar g

7

1. QUi W & U 9N & ey

2. I Had Sl & T 98 & qd

3. U A4 ofig- & qcd

4. U TXd & foR J 94 ofld & 70

Options :
878270174393. 1

878270174394. 2



878270174395. 3

878270174396. 4

Question Number : 65 Question Id : 87827044384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per Indian Public Health Standards, Rural Primary Health Centre in the hilly and tribal areas should be established for a
population of -

1.10000
2..20000
3..30000
4.50000

Options:

878270174397. 1
878270174398. 2
878270174399. 3

878270174400. 4

Question Number : 65 Question Id : 87827044384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIRCIG Wi e HFD]  SFER, UETal R oy & & et S Tareed g 1 IO foberl el R

1.10000
2.20000
3.30000
4.50000

Options :



878270174397. 1
878270174398. 2
878270174399. 3

878270174400. 4

Question Number : 66 Question Id : 87827044385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Meteorological and Oceanographic Satellite Data Archival Centre (MOSDAC), a data repository for the missions of the
Indian Space Research Organization (ISRO) disseminates information in near real time but does not provide information on

1. City Weather
2. Forest Fire
3. Heat Waves
4 Sea State

Options :

878270174401. 1
878270174402. 2
878270174403. 3

878270174404. 4

Question Number : 66 Question Id : 87827044385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR SfRe SR T34 (1SRO) o R o ot T st Rufored, Fige o 3R s o Sre a7 i i
(MOSDAC) T aIdidd TG H WH®OR] &1 WOR O o, T 350 SR A THBR! WaH o) % 5

REEL

2 T

3 I TR

4 I A R (@ %)

Options :

878270174401. 1
878270174402. 2
878270174403. 3

878270174404. 4

Question Number : 67 Question Id : 87827044386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-ll

List-l List-ll

(Lake) {Location)
(A). Great Lakes (I). Central Africa

(B). Malawi Lake (Il). East Africa

(C). Tanganyika Lake |(IIl). South America

(D). Titicaca Lake (IV). North America

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (1), (D) - (NT}
2. (A) - (IV), (B) - (I}, (C) - (), (D) - (11T}
3. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)
4. (A)- (1), (B) - (1), (C} - (1), (D) - (IV)



Options :

878270174405. 1
878270174406. 2
878270174407. 3

878270174408. 4

Question Number : 67 Question Id : 87827044386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AL BT G-Il & F1Y e Sifere

Gl -1l

(gita) (1)

(A). UT TF (1). HET 3{3hidaT
(B). AT @ |(11). TAT MBI
(C). ST ie|(111). SiEmT s
(D). ICIc®IH :’p'F (IV). Fad e
-d feu e [9@vedt § 9§ 981 SR 9.

1.(A) - (IV), (B) - (Il), (C) - (1), (D) - (Il
2 (A) - (IV), (B) - (1), (C) - {|| cm- Il
3. (A) - (1), (B) - (IV), (C) - {|||;| D) - (Il
4. (A) - (). B) - (1), (C)- (). (D) - (IV

Tt gt gt Vg

Options:

878270174405. 1
878270174406. 2
878270174407.3
878270174408. 4

Question Number : 68 Question Id : 87827044387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

While studying the property of materials, the shear modulus measures -

1. The resistance to flow of a liquid

2. The resistance to change in shape

3. The resistance to change in volume of a liquid
4 The resistance to change in volume of a solid

Options :

8782701744009. 1
878270174410. 2
878270174411. 3

878270174412. 4

Question Number : 68 Question Id : 87827044387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & T[0T BT S DHd GHY, U= AUNd (HIge) d19d & -

1T dl 29 & Uae &1 Uiy

2. @i § gitad o forg ufasiy

3. U %4 & AAd 5 uligad &1 ufdRiy
4. 319 & 3Mad | gRadd & gy

Options:

878270174409. 1
878270174410. 2
878270174411.3

878270174412. 4

Question Number : 69 Question Id : 87827044388 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process by which masses of rock and soil move downhill under the influence of gravity is called

1. Hydraulic action
2. Landsliding

3. Mass Wasting
4. Solifluction

Options :

878270174413. 1
878270174414.2
878270174415.3

878270174416. 4

Question Number : 69 Question Id : 87827044388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g% Wil o R 9eH AR gl & YR Raidyul & Y1G H id @1 &R 91d §, el ol ¢

1. ST [T

2. YEETH
3 G\:_o(& {U
4. H"{;H_:Dl

Options :

878270174413. 1
878270174414. 2
878270174415. 3
878270174416. 4

Question Number : 70 Question Id : 87827044389 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-l with List-ll

List-l List-Il

(Peaks) (Mountains)
(A). Mt Blane (I). Arakan Yoma

(B). Mt. Elbert (I1). Alps mountains

(C). Mt. Kennedy [(I11). Alaska Range

(D). Mt. McKinley |(IV). Rocky mountains

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (IV), (C) - (1}, (D) - (11}

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (Il}

4 (A) - (1), (B) - (IV), (C) - (llT), (D) - (I1)
Options :

878270174417. 1
878270174418. 2
878270174419. 3

878270174420. 4

Question Number : 70 Question Id : 87827044389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l BT Il & 91y e Sife

it -1l

(Rrav) (gda)

(A)AET =E (). SREE g
(B). AIGE Ueae (1), 3Teeg Uag
(C). ATEE FHET ((II1). SEReRT I
(D). A3 Afd=|(Iv). et 9aa
Ty iea 73w oR o

1.(A) - (IN), (B) - (1), (C) - (I11), (D) - (IV)
2 (A) - (I}, (B) - (IV), (C) - (1), (D) - (Il1)
3. (A) - (), (B) - (IV), (C) - (1}, (D) - (1)

4. (A) - (), (B) - (IV), (C) - (1T}, (D) - (1)

Options:

878270174417.1
878270174418. 2
878270174419.3

878270174420. 4

Question Number : 71 Question Id : 87827044390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The movement of sand grains along the beach refers to -

1. Wave refraction
2. Turbidity current
3. Longshore drift
4 Ebb tide

Options :
878270174421. 1
878270174422. 2

878270174423. 3



878270174424. 4

Question Number : 71 Question Id : 87827044390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ofe & 3G 91e & BN & da- & Yaiid Bdl & -

2. JTfderdr 4RI
4. SGR el

Options :

878270174421. 1
878270174422. 2
878270174423. 3
878270174424. 4

Question Number : 72 Question Id : 87827044391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What drives the Earth's internal heat engine?

1. Radioactivity
2. Solar energy
3. Volcanoes

4 Ocean Tides

Options :
878270174425. 1

878270174426. 2



878270174427. 3
878270174428. 4

Question Number : 72 Question Id : 87827044391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl & ATdRS S Soi B 31 Galiad Dl g2

2. R Sl
3. ATl

Options:

878270174425. 1
878270174426. 2
878270174427.3

878270174428. 4

Question Number : 73 Question Id : 87827044392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If sand input is greater than sand output in a beach's sand budget, the beach will -

1. be long, wide and sandy
2_have large sand dunes
3. have a large tidal flat

4 have high cliffs

Options :

878270174429. 1



878270174430. 2
878270174431. 3

878270174432. 4

Question Number : 73 Question Id : 87827044392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe gfcH o dic] gwic H 9l @1 Hd dig] & 3diad § i@ 8, al gieiH -

1. i1, 91ST SR a1 i
2. d3-dg 9 Ui drell shTl
3. U® ¥ SaRig 9UIe ardl 8

Options:

878270174429. 1
878270174430. 2
878270174431.3

878270174432. 4

Question Number : 74 Question Id : 87827044393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shearing stresses and shallow earthquakes are associated with

_ Subduction zones

_ Continent convergence
. spreading centers

_ Transform boundaries

B T o

Options :



878270174433. 1
878270174434. 2
878270174435. 3

878270174436. 4

Question Number : 74 Question Id : 87827044393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUEY Yidad 3R 3Yd Y&y Fg & 9 Js gl e
1. ufgEa &3

2 HETag O]
3. TEU g
4. ¥qiT A

Options :

878270174433. 1
878270174434. 2
878270174435. 3

878270174436. 4

Question Number : 75 Question Id : 87827044394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

(Disaster)

(Location)

(A). Guangxi Cadmium Spill

(). Tokyo, Japan

(B). Love Canal

(I1). Minas Gerais, Brazil

(C). Mariana Dam Disaster

(IlI). Niagara Falls, New York

(D). Tokaimura Nuclear Plant

(IV). Longjiang River, China

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (I1N), (D) - (I}

2. (A) - (IV), (B) - (111}, (C) - (), (D) - (1)

3. (A) - (1), (B) - (I1), (C) - (M), (D) - (IV)

4. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)
Options :

878270174437. 1
878270174438. 2
878270174439. 3

878270174440. 4

Question Number : 75 Question Id : 87827044394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l BT Il & 91y e Sife

it

-1l

(HT9GT)

(THT-)

(A). T Sethad foama|(1). Tiear, wraE

(B). T T

(. e T, we

(C). BTG S1% HT9aT

(). FFramn ST, =i

(D). IHERT GTA] e

(). ST a1, =4

e 73 @ oR

1.(A) - (IV), (B) - (11}, (C) - (IlT), (D) - (I)
2. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
3. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (1), (B) - (IlT), (C) - (1), (D) - (IV)

Options :

878270174437. 1
878270174438. 2
878270174439. 3

878270174440. 4




